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Il Semester 5 Year B.A. LL.B. (Major — Minor System) Examination,
December 2016
Major — 4 : SOCIOLOGY (Challenges of Indian Society)

Duration : 3 Hours Max. Marks :

Instructions : 1. Answer Q. No. 9 and any five remaining questions.
. Q. No. 9 carries 20 marks and the remaining
carry 16 marks each.
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Examine the concept of social problems and explain the
characteristics of social problem. Marks :
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Explain the effects of population explosion.
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Define dowry. Explain the legislative protection to control dowry. Marks :
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Discuss the changing dimensions of social problems.
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What is terrorism ? Explain the objectives of terrorism.
J
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E\(plain the causes responsible for growth of f‘orruptlon in India. Marks :
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Discuss the role of voluntary organization in controlling the
problem of AIDS. Marks : 16
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Q. No. 8. Write short notes on any two of following questions : Marks : 2x8=16
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a) Theoretical appzoaches to social problem.
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b) Domestic violence.
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¢) Social deviance.
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Q. No. 9. Explain any two of the following : Marks : 2x10=20
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a) Population growth in India.
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b) Corruption and Iegislatlon
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Patriarchy and gender mequahty
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